

			Vendor	Ranking		Page 1 of 1
Letting:	03220519	May 19, 2022 02:00 pm	Call Orde	r: 006	Contract:	E3V94-R0
District:	District 3		Counties:		Fed Aid No	
Contract Time:	06/30/23 CC	OMPLETION DATE		GADSDEN, JEFFERSON,	Project(s):	42215127222 (*)
Contract Desc:	MIDWAY O	PS MAINTENANCE - BOLD I	ANDSCAPE	MATATENANCE Y,		

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	PINEY GROVE NURSERY AND LANDSCA	Responsive	Winning bid	\$596,239.50	100.00%
2	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$1,092,245.00	183.19%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY

MAXIMUM AMOUNT TO BE EXEPENDED \$250,000.00

FDOT)		Florida Dep	partment of ⁻	ransportation			06/07/2022
			Т	abulation of	Bids			Page 1 of 21
Letting:	03220519	May 19, 2022	Cal	I Order: 00	6	Contract:	E3V94-R0	
District:	District 3		Cou	unties:	DSDEN,	Fed Aid No	b: N/A	
Contract Descr: MIDWAY OPS MAINTENANCE - BOLD LANDSCAPE MAINTERSON LEON, The Improvements under this Work Document-Driven Contract consist of providing all labor, materials, equipment, and incidentals necessary for maintenance of the Bold Landscape sites in Gadsden, Wakulla, Leon, and Jefferson Counties as specified in the Appendices and outlined in the Contract Documents. Obtain specification packages and landscape plans, for the sites referenced in the Appendices, from the Departments Contract Proposal Processing Online Ordering system (CPP) website. Mobilization and Maintenance of Traffic are incidental to the other pay items listed. Contractor Experience Form number 850-070-09 (Landscaping) is required to be submitted with bid. This contract has a budgetary ceiling of \$250,000.00 The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.							22 (*)	
Line No / Item Item Descriptio	D Alternate		(1) PINEY GRO AND LAN	VE NURSERY	(2) MIDV	VESTERN ICTION, INC		
-	is bid as Lump Sum		Unit Price	Ext Amoun	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	(SLOPE MOWI	NG (AC					
0005 0580 412 LANDSCAPE- PAL BUTIA CAPITATA,	.MS, PINDO PALM		1,200.00000	1,200	00 2,000.00000	2,000.00		
0010 0580 412 LANDSCAPE- PAL BUTIA CAPITATA,	.MS, PINDO PALM		1,800.00000	1,800	00 2,500.00000	2,500.00		
0015 0580 412 LANDSCAPE- PAL BUTIA CAPITATA,	.MS, PINDO PALM		2,250.00000	2,250	3,500.00000	3,500.00		



Page 2 of 21

Letting: 0322	0519 May	/ 19, 2022	Cal	Order: 006		Contract:	E3V94-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) PINEY GRO AND LAI		(2) MIDWI CONSTRUC			
() indicates item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00	001 (SL	OPE MOWI	NG (AC					
0020 0580 4215 LANDSCAPE- PALMS, M PALM PHOENIX DACTY 'MEDJOOL', 16-20', CLEA	LIFERA	1.000 EA	4,500.00000	4,500.00	6,750.00000	6,750.00		
0025 0580 4216 LANDSCAPE- PALMS, M PALM PHOENIX DACTY 'MEDJOOL', 21-24', CLEA	LIFERA	1.000 EA	5,400.00000	5,400.00	7,000.00000	7,000.00		
0030 0580 4217 LANDSCAPE- PALMS, M PALM PHOENIX DACTY 'MEDJOOL', 25-30', CLEA	LIFERA	1.000 EA	6,900.00000	6,900.00	7,500.00000	7,500.00		
0035 0580 4373 LANDSCAPE- PALMS, RI SABAL PALMETTO SABA 9-12' CLEAR TRUNK		1.000 EA	450.00000	450.00	1,400.00000	1,400.00		
0040 0580 4374 LANDSCAPE- PALMS, RI SABAL PALMETTO SABA 13-15' CLEAR TRUNK		1.000 EA	450.00000	450.00	1,450.00000	1,450.00		
0045 0580 4375 LANDSCAPE- PALMS, RI SABAL PALMETTO SABA 16-20' CLEAR TRUNK		1.000 EA	450.00000	450.00	1,500.00000	1,500.00		
0050 0580 4376 LANDSCAPE- PALMS, RI SABAL PALMETTO SAB/ 21-24' CLEAR TRUNK		1.000 EA	500.00000	500.00	1,550.00000	1,550.00		



Page 3 of 21

Letting: 032	20519 Ma	y 19, 2022	Cal	l Order: 006		Contract:	E3V94-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) PINEY GRO AND LAI		(2) MIDWI CONSTRUC			
() indicates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001 (S		NG (AC					
0055 0580 4377		1.000	500.00000	500.00	1,600.00000	1,600.00		
LANDSCAPE- PALMS, SABAL PALMETTO SAB 25-30' CLEAR TRUNK								
0060 0580 4422		1.000	375.00000	375.00	1,350.00000	1,350.00		
LANDSCAPE- PALMS, TRACHYCARPUS FOR OVERALL HEIGHT		И, ЕА						
0065 0580 4423		1.000	450.00000	450.00	1,450.00000	1,450.00		
LANDSCAPE- PALMS, ' TRACHYCARPUS FOR' OVERALL HEIGHT		И, ЕА						
0070 0580 4454		1.000	1,200.00000	1,200.00	2,000.00000	2,000.00		
LANDSCAPE- PALMS, BUTIAGRUS NABONNA OVERALL HEIGHT		EA						
0075 0580 5 23		1.000	165.00000	165.00	1,500.00000	1,500.00		
LANDSCAPE- TREES, I SPECIFIED FROM PRO CONTAINER GROWN 3	JECT LIST,	EA						
0080 0580 5 24		1.000	298.50000	298.50	1,600.00000	1,600.00		
LANDSCAPE- TREES, I SPECIFIED FROM PRO CONTAINER GROWN 4	JECT LIST,	EA						
0085 0580 5 25		1.000	450.00000	450.00	2,000.00000	2,000.00		
LANDSCAPE- TREES, I SPECIFIED FROM PRO CONTAINER GROWN 6	JECT LIST,	EA						



Page 4 of 21

Letting:	03220519	May 19, 2022	Cal	l Order: 006		Contract:	E3V94-R0	
Line No / I Item Desc		te Quantity Units	(1) PINEY GRO AND LAI		(2) MIDWI CONSTRUC			
() indicates	item is bid as Lump Sun	ו	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	(SLOPE MOWI	NG (AC					
LANDSCAPE- SPECIFIED F) 526 - TREES, DISTRICT ROM PROJECT LIST GROWN 100 GALLOI	· I	675.00000	675.00	2,500.00000	2,500.00		
LANDSCAPE- SPECIFIED F) 5 41 - TREES, DISTRICT ROM PROJECT LIST BALL & BURLAP, 2"	5.000 EA , FIELD	165.00000	825.00	1,500.00000	7,500.00		
LANDSCAPE- SPECIFIED F) 5 42 - TREES, DISTRICT ROM PROJECT LIST BALL & BURLAP, 2.5'		225.00000	1,125.00	1,800.00000	9,000.00		
LANDSCAPE- SPECIFIED F) 5 43 - TREES, DISTRICT ROM PROJECT LIST BALL & BURLAP, 3"	5.000 EA , FIELD	298.50000	1,492.50	2,000.00000	10,000.00		
LANDSCAPE- SPECIFIED F) 5 44 - TREES, DISTRICT ROM PROJECT LIST BALL & BURLAP, 4"	5.000 EA , FIELD	450.00000	2,250.00	2,250.00000	11,250.00		
LANDSCAPE- SPECIFIED F) 5 45 - TREES, DISTRICT ROM PROJECT LIST BALL & BURLAP, 5"	1.000 EA , FIELD	675.00000	675.00	2,500.00000	2,500.00		



Page 5 of 21

Letting:	03220519	May 19, 2022	Cal	l Order: 006		Contract:	E3V94-R0	
Line No / Ite Item Descri		e Quantity Units	(1) PINEY GRO AND LAM		(2) MIDWI CONSTRUC			
() indicates it	em is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	ΓΙΟΝ: 0001	(SLOPE MOWIN	NG (AC					
SPECIFIED FR	5 46 IREES, DISTRICT OM PROJECT LIST, ALL & BURLAP, 6"	1.000 EA FIELD	825.00000	825.00	3,000.00000	3,000.00		
SPECIFIED FR	5 47 IREES, DISTRICT OM PROJECT LIST, ALL & BURLAP, 8"	1.000 EA FIELD	1,125.00000	1,125.00	3,500.00000	3,500.00		
SPECIFIED FR	5 48 FREES, DISTRICT OM PROJECT LIST, ALL & BURLAP, >8"	1.000 EA FIELD	1,425.00000	1,425.00	4,000.00000	4,000.00		
CEDAR JUNIPI	5121 FREES, SOUTHERN ERUS VIRGINIANA P TO 8' OVERALL HE		82.50000	412.50	1,500.00000	7,500.00		
CEDAR JUNIPI	5122 IREES, SOUTHERN ERUS VIRGINIANA 10' OVERALL HEIGH		165.00000	825.00	1,600.00000	8,000.00		
CEDAR JUNIPI	5123 IREES, SOUTHERN ERUS VIRGINIANA I-14' OVERALL HEIG		298.50000	1,492.50	1,800.00000	9,000.00		
CEDAR JUNIPI	5124 FREES, SOUTHERN ERUS VIRGINIANA 5-18' OVERALL HEIG		450.00000	2,250.00	2,100.00000	10,500.00		



Page 6 of 21

Letting: 03220519	May 19, 2022	Cal	l Order: 006		Contract:	E3V94-R0	
Line No / Item ID Alternate	Quantity Units	(1) PINEY GRO AND LAI		(2) MIDWE CONSTRUC			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(SLOPE MOWI	NG (AC					
0155 0580 5133 LANDSCAPE- TREES, CRAPE MYR STANDARD/SINGLE LAGERSTROE INDICA 'STANDARD', 11-14' OVERA HEIGHT	AIN	300.00000	600.00	1,800.00000	3,600.00		
0160 0580 5134 LANDSCAPE- TREES, CRAPE MYR ⁻ STANDARD/SINGLE LAGERSTROEI INDICA 'STANDARD', 15-18' OVERA HEIGHT	AIN	450.00000	900.00	2,100.00000	4,200.00		
0165 0580 5142 LANDSCAPE- TREES, CRAPE MYR ⁻ MULTI LAGERSTROEMIA INDICA 'MULTI', 8-10' OVERALL HEIGHT	2.000 ILE EA	82.50000	165.00	1,500.00000	3,000.00		
0170 0580 5143 LANDSCAPE- TREES, CRAPE MYR ⁻ MULTI LAGERSTROEMIA INDICA 'MULTI', 11-14' OVERALL HEIGHT	2.000 ILE EA	165.00000	330.00	1,800.00000	3,600.00		
0175 0580 5144 LANDSCAPE- TREES, CRAPE MYR` MULTI LAGERSTROEMIA INDICA 'MULTI', 15-18' OVERALL HEIGHT	2.000 ГLE EA	298.50000	597.00	2,000.00000	4,000.00		
0180 0580 5171 LANDSCAPE- TREES, BALD CYPRE TAXODIUM DISTICHUM , UP TO 8' OVERALL HEIGHT	1.000 SS EA	67.50000	67.50	1,400.00000	1,400.00		
0185 0580 5172 LANDSCAPE- TREES, BALD CYPRE TAXODIUM DISTICHUM , 8-10' OVEI HEIGHT		135.00000	135.00	1,600.00000	1,600.00		



Page 7 of 21

Letting:	03220519	May 19, 2022	Cal	l Order: 006		Contract:	E3V94-R0	
Line No / I Item Desc		ate Quantity Units	(1) PINEY GRO AND LAI		(2) MIDW CONSTRUC			
() indicates	item is bid as Lump Su	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	(SLOPE MOWI	NG (AC					
LANDSCAPE-) 5173 - TREES, BALD CYP ISTICHUM , 11-14' IGHT	1.000 RESS EA	225.00000	225.00	1,800.00000	1,800.00		
LANDSCAPE- BLANCHARD) 5193 - TREES, MAGNOLIA MAGNOLIA RA, 11-14' OVERALL		525.00000	525.00	2,400.00000	2,400.00		
LANDSCAPE- BLANCHARD) 5194 - TREES, MAGNOLIA MAGNOLIA RA, 15-18' OVERALL		900.00000	900.00	3,000.00000	3,000.00		
LANDSCAPE- BLANCHARD) 5195 - TREES, MAGNOLI/ MAGNOLIA RA, 19-24' OVERALL		1,350.00000	1,350.00	3,800.00000	3,800.00		
LANDSCAPE- LITTLE GEM I) 5201 - TREES, MAGNOLIA MAGNOLIA GRANDI , UP TO 8' OVERALI	IFLORA	73.50000	73.50	1,200.00000	1,200.00		
LANDSCAPE- LITTLE GEM) 5202 - TREES, MAGNOLIA MAGNOLIA GRANDI , 8-10' OVERALL HE	IFLORA	165.00000	165.00	1,400.00000	1,400.00		



Page 8 of 21

Letting: 032	20519 May	19, 2022	Cal	Order: 006		Contract:	E3V94-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) PINEY GRO AND LAM		(2) MIDWI CONSTRUC			
() indicates item is bid a	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0	001 (SL		NG (AC					
0220 0580 5203 LANDSCAPE- TREES, M LITTLE GEM MAGNOLIA 'LITTLE GEM', 11-14' OV	A GRANDIFLORA	1.000 EA	298.50000	298.50	1,800.00000	1,800.00		
0225 0580 5204 LANDSCAPE- TREES, M LITTLE GEM MAGNOLIA 'LITTLE GEM', 15-18' OV	A GRANDIFLORA	1.000 EA	525.00000	525.00	3,000.00000	3,000.00		
0230 0580 5212 LANDSCAPE- TREES, M SWEET BAY MAGNOLIA OVERALL HEIGHT		1.000 EA	118.50000	118.50	1,300.00000	1,300.00		
0235 0580 5213 LANDSCAPE- TREES, M SWEET BAY MAGNOLIA 14' OVERALL HEIGHT		1.000 EA	298.50000	298.50	1,600.00000	1,600.00		
0240 0580 5223 LANDSCAPE- TREES, L QUERCUS VIRGINIANA OVERALL HEIGHT		1.000 EA	442.50000	442.50	2,500.00000	2,500.00		
0245 0580 5224 LANDSCAPE- TREES, L QUERCUS VIRGINIANA OVERALL HEIGHT		1.000 EA	1,050.00000	1,050.00	3,600.00000	3,600.00		
0250 0580 5225 LANDSCAPE- TREES, L QUERCUS VIRGINIANA OVERALL HEIGHT		1.000 EA	1,500.00000	1,500.00	9,500.00000	9,500.00		



Page 9 of 21

Letting:	03220519) May	/ 19, 2022	Cal	l Order: 006		Contract:	E3V94-R0	
Line No / Ite Item Descri		ernate	Quantity Units	(1) PINEY GRO AND LAI		(2) MIDW CONSTRUC			
() indicates ite	em is bid as Lump	o Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	TION: 0001	(SL	OPE MOWI	NG (AC					
0255 0580 LANDSCAPE- 1 QUERCUS VIR OVERALL HEIO	REES, LIVE O GINIANA, 25-30		1.000 EA	2,700.00000	2,700.00	12,500.00000	12,500.00		
0260 0580 LANDSCAPE- 1 RED MAPLE, <i>A</i> FLAME', 11-14'	REES, FLORIE	1 'FLORID/		292.50000	292.50	1,700.00000	1,700.00		
0265 0580 LANDSCAPE- 7 RED MAPLE, <i>A</i> FLAME', 15-18'	TREES, FLORIE ACER RUBRUM	1 'FLORID/		600.00000	600.00	2,000.00000	2,000.00		
0270 0580 LANDSCAPE- 1 HOLLY ILEX A1 8-10' OVERALL	TREES, EAGLE TTENUATA 'EA		1.000 EA ',	148.50000	148.50	1,350.00000	1,350.00		
0275 0580 LANDSCAPE- 1 HOLLY ILEX A1 11-14' OVERAL	TREES, EAGLE TTENUATA 'EA		1.000 EA ',	313.50000	313.50	1,600.00000	1,600.00		
0280 0580 LANDSCAPE- 1 STEVENS HOL 'NELLIE R STE' HEIGHT	REES, NELLIE LY, ILEX COR	NATA	1.000 EA	261.00000	261.00	1,600.00000	1,600.00		
0285 0580 LANDSCAPE- 1 STEVENS HOL 'NELLIE R STE' HEIGHT	REES, NELLIE LY, ILEX COR	NATA	1.000 EA	448.50000	448.50	2,500.00000	2,500.00		



Page 10 of 21

Letting:	03220519	May 19, 2022	Cal	l Order: 006		Contract:	E3V94-R0	
Line No / Item Item Descript		e Quantity Units	(1) PINEY GRO AND LAI		(2) MIDW CONSTRUC			
() indicates item	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN: 0001	(SLOPE MOWI	NG (AC					
0290 0580 55 LANDSCAPE- TR PRIVET, LIGUST TO 8' OVERALL H	EES, WAX LEAF RUM JAPONICUM	1.000 EA , UP	277.50000	277.50	1,600.00000	1,600.00		
0295 0580 55 LANDSCAPE- TR PRIVET, LIGUST OVERALL HEIGH	EES, WAX LEAF RUM JAPONICUM	1.000 EA , 8-10'	337.50000	337.50	2,250.00000	2,250.00		
	EES, SWEETGUN FYRACIFLUA, 11-		67.50000	67.50	800.00000	800.00		
0305 0580 56 LANDSCAPE- TR PINUS CLAUSA, HEIGHT		1.000 EA L	67.50000	67.50	1,400.00000	1,400.00		
	11 EES, SLASH PINE JP TO 8' OVERAL		67.50000	337.50	750.00000	3,750.00		
	12 EES, SLASH PINE 3-10' OVERALL HE		163.50000	817.50	800.00000	4,000.00		
0320 0580 56 LANDSCAPE- TR PINUS ELLIOTII, HEIGHT	EES, SLASH PINE	5.000 E EA	200.00000	1,000.00	900.00000	4,500.00		



Page 11 of 21

Letting	g: 0	3220519	May 19, 2022	Cal	l Order: 006		Contract:	E3V94-R0	
	No / Item ID Description	Alternate	e Quantity Units	(1) PINEY GRO AND LAI		(2) MIDW CONSTRUC			
() ind	licates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SLOPE MOWI	NG (AC					
0325	0580 5621		5.000	67.50000	337.50	650.00000	3,250.00		
	PALUSTRIS, l	S, LONG LEAF JP TO 8' OVER							
0330	0580 5622		5.000	150.00000	750.00	700.00000	3,500.00		
	PALUSTRIS, 8	S, LONG LEAF 3-10' OVERALL							
0335	0580 5623		1.000	200.00000	200.00	800.00000	800.00		
	PALUSTRIS, 1	6, LONG LEAF 11-14' OVERAL							
0340	0580 5631		1.000	67.50000	67.50	650.00000	650.00		
	TAEDA, UP TO	3, LOBLOLLY P O 8' OVERALL	'INE EA						
0345	0580 5632		1.000	150.00000	150.00	700.00000	700.00		
		S, LOBLOLLY P OVERALL HEI							
0350	0580 5633		1.000	200.00000	200.00	800.00000	800.00		
		S, LOBLOLLY P OVERALL HE							
0355	0580 5642		5.000	200.00000	1,000.00	800.00000	4,000.00		
PLUM P		S, CHICKASAW USTIFOL I A, 8-′							
0360	0580 5672		1.000	150.00000	150.00	800.00000	800.00		
DOGWC		6, FLOWERING 6 FLORIDA, 8-1							



Page 12 of 21

Letting: 03220519 May	19, 2022	Cal	l Order: 006		Contract:	E3V94-R0	
Line No / Item ID Alternate C Item Description	Quantity Units	(1) PINEY GRO AND LAI		(2) MIDWI CONSTRUC			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (SLO	PE MOWI	NG (AC					
0365 0580 5682 LANDSCAPE- TREES, EASTERN REDBUD CERCIS CANADENSIS, 8-10' OVERALL HEIGHT	5.000 EA	34.50000	172.50	800.00000	4,000.00		
0370 0580 6401 LANDSCAPE- LARGE SHRUB, DISTRICT SPECIFIED FROM PROJECT LIST, 7-14 GA	1.000 EA	70.00000	70.00	350.00000	350.00		
0375 0580 6402 LANDSCAPE- LARGE SHRUB, DISTRICT SPECIFIED FROM PROJECT LIST, 15-19 GA	1.000 EA	70.00000	70.00	500.00000	500.00		
0380 0580 6403 LANDSCAPE- LARGE SHRUB, DISTRICT SPECIFIED FROM PROJECT LIST, 20-24 GA	1.000 EA	100.00000	100.00	650.00000	650.00		
0385 0580 6404 LANDSCAPE- LARGE SHRUB, DISTRICT SPECIFIED FROM PROJECT LIST, 25-29 GA	1.000 EA	133.50000	133.50	700.00000	700.00		
0390 0580 6405 LANDSCAPE- LARGE SHRUB, DISTRICT SPECIFIED FROM PROJECT LIST, 30-34 GA	1.000 EA	133.50000	133.50	750.00000	750.00		
0395 0580 6406 LANDSCAPE- LARGE SHRUB, DISTRICT SPECIFIED FROM PROJECT LIST, 35-39 GA	1.000 EA	100.00000	100.00	800.00000	800.00		



Page 13 of 21

Letting:	03220519	May 19, 2022	Cal	I Order: 006		Contract:	E3V94-R0	
Line No / It Item Descr		e Quantity Units	(1) PINEY GRO AND LAI		(2) MIDWI CONSTRUC			
() indicates i	tem is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(SLOPE MOWI	NG (AC					
SPECIFIED FF	6407 LARGE SHRUB, DIS ROM PROJECT LIST, D GROWN OR B/B		65.00000	65.00	850.00000	850.00		
SPECIFIED FF	6408 LARGE SHRUB, DIS ROM PROJECT LIST, D GROWN OR B/B		150.00000	150.00	900.00000	900.00		
SPECIFIED FF	6409 LARGE SHRUB, DIS ROM PROJECT LIST, O GROWN OR B/B		250.00000	250.00	1,100.00000	1,100.00		
SPECIFIED FF	6410 LARGE SHRUB, DIS ROM PROJECT LIST, D GROWN OR B/B		30.00000	30.00	1,500.00000	1,500.00		
	GROUND COVER, CIFIED FROM PROJ	50.000 EA JECT	9.00000	450.00	35.00000	1,750.00		
	GROUND COVER, CIFIED FROM PROJ	1.000 EA JECT	18.00000	18.00	40.00000	40.00		
	GROUND COVER, CIFIED FROM PROJ	1.000 EA IECT	30.00000	30.00	50.00000	50.00		



Page 14 of 21

Letting: 03220519 May	v 19, 2022	Cal	l Order: 006		Contract:	E3V94-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(1) PINEY GRO AND LAI		(2) MIDWI CONSTRUC			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (SL		NG (AC					
0435 0580 7 27	1.000	45.00000	45.00	60.00000	60.00		
LANDSCAPE- GROUND COVER, DISTRICT SPECIFIED FROM PROJECT LIST, 7 GALLON	EA						
0440 0580 7 41	1.000	9.00000	9.00	35.00000	35.00		
LANDSCAPE- ORNAMENTAL GRASS, DISTRICT SPECIFIED FROM PROJECT LIST, 1 GALLON	EA						
0445 0580 7 43	1.000	18.00000	18.00	40.00000	40.00		
LANDSCAPE- ORNAMENTAL GRASS, DISTRICT SPECIFIED FROM PROJECT LIST, 3 GALLON	EA						
0450 0580 7 45	1.000	30.00000	30.00	50.00000	50.00		
LANDSCAPE- ORNAMENTAL GRASS, DISTRICT SPECIFIED FROM PROJECT LIST, 5 GALLON	EA						
0455 0580 7 47	1.000	45.00000	45.00	60.00000	60.00		
LANDSCAPE- ORNAMENTAL GRASS, DISTRICT SPECIFIED FROM PROJECT LIST, 7 GALLON	EA						
0460 0580 7 61	1.000	9.00000	9.00	40.00000	40.00		
LANDSCAPE- SMALL SHRUB, DISTRIC SPECIFIED FROM PROJECT LIST, 1 GALLON	Γ EA						
0465 0580 7 63	5.000	18.00000	90.00	50.00000	250.00		
LANDSCAPE- SMALL SHRUB, DISTRIC SPECIFIED FROM PROJECT LIST, 3 GALLON	Γ EA						



Page 15 of 21

Letting: 03220519 May	19, 2022	Cal	Order: 006		Contract:	E3V94-R0	
Line No / Item ID Alternate (Item Description	Quantity Units	(1) PINEY GRO AND LAM		(2) MIDWE CONSTRUC			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (SLC		NG (AC					
0470 0580 7 65 LANDSCAPE- SMALL SHRUB, DISTRICT SPECIFIED FROM PROJECT LIST, 5 GALLON	1.000 EA	30.00000	30.00	60.00000	60.00		
0475 0580 7 67 LANDSCAPE- SMALL SHRUB, DISTRICT SPECIFIED FROM PROJECT LIST, 7 GALLON	1.000 EA	45.00000	45.00	75.00000	75.00		
0480 0580 7103 LANDSCAPE- SMALL SHRUB/ORNAMENTAL GRASS, MUHLY GRASS MUHLENBERGIA CAPILLARIS, 3 GALLON CONTAINER	5.000 EA	18.00000	90.00	40.00000	200.00		
0485 0580 7363 LANDSCAPE- SMALL SHRUB/ORNAMENTAL GRASS, SHINING SUMAC RHUS COPALLINA, 3 GALLON	1.000 EA	18.00000	18.00	40.00000	40.00		
0490 0580 7471 LANDSCAPE- SMALL SHRUB/ORNAMENTAL GRASS, IPOMOEA PES-CAPRAE BEACH MORNING GLORY, 1 GALLON	1.000 EA	9.00000	9.00	40.00000	40.00		
0495 0580 8 6 LANDSCAPE- STAKING AND GUYING EXISTING PALM	1.000 EA	25.00000	25.00	100.00000	100.00		
0500 0580 8 10 LANDSCAPE- TREE PRUNING/TRIMMING, MANUAL, 1 TO 8" DBH	200.000 EA	55.00000	11,000.00	100.00000	20,000.00		



06/07/2022

Tabulation of Bids

Page 16 of 21

Letting:	03220519	May 19, 2022	Cal	l Order: 006		Contract:	E3V94-R0	
Line No / Ite Item Descri		ate Quantity Units	(1) PINEY GRO AND LAI		(2) MIDW CONSTRUC			
() indicates it	em is bid as Lump Sun	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(SLOPE MOWI	NG (AC					
0505 0580 LANDSCAPE- PRUNING/TRIN 24" DBH		1.000 EA TO	75.00000	75.00	125.00000	125.00		
0510 0580 LANDSCAPE- PRUNING/TRIN GREATER DBH	TREE MMING, MANUAL, 2	1.000 EA 4" AND	85.00000	85.00	150.00000	150.00		
0515 0580 LANDSCAPE- EXISTING TRE	STAKING AND GUY	1.000 ′ING EA	18.00000	18.00	100.00000	100.00		
0520 0580 LANDSCAPE- PRUNING/TRI PLANT, LESS	SHRUB, MMING INDIVIDUAL	700.000 EA	5.00000	3,500.00	15.00000	10,500.00		
0525 0580 LANDSCAPE- PRUNING/TRII PLANT, 3' TO <	SHRUB, MMING INDIVIDUAL	100.000 EA	8.00000	800.00	25.00000	2,500.00		
0530 0580 LANDSCAPE- PRUNING/TRII PLANT, 6' TO 1	SHRUB, MMING INDIVIDUAL	25.000 EA	12.00000	300.00	40.00000	1,000.00		
0535 0580 LANDSCAPE- PRUNING/TRII PLANT, >10' H	SHRUB, MMING INDIVIDUAL	1.000 EA	18.00000	18.00	80.00000	80.00		



Page 17 of 21

Letting: 03220519 Ma	ay 19, 2022	Cal	l Order: 006		Contract:	E3V94-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(1) PINEY GRO AND LAI		(2) MIDWI CONSTRUC			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (S		NG (AC					
0540 0580 9 1 LANDSCAPE- PALM, COMPLETE REMOVAL, LESS THAN 14' OF CLEAR TRUNK	1.000 EA	250.00000	250.00	600.00000	600.00		
0545 0580 9 2 LANDSCAPE- PALM, COMPLETE REMOVAL, 14' AND GREATER OF CLEAR TRUNK	1.000 EA	250.00000	250.00	700.00000	700.00		
0550 0580 9 10 LANDSCAPE- TREE, COMPLETE REMOVAL, 1" TO 8" DBH,	10.000 EA	250.00000	2,500.00	400.00000	4,000.00		
0555 0580 9 11 LANDSCAPE- TREE, COMPLETE REMOVAL, 8 TO 24" DBH,	1.000 EA	250.00000	250.00	650.00000	650.00		
0560 E107 1 1 LITTER REMOVAL	1,500.000 AC	50.00000	75,000.00	50.00000	75,000.00		
0565 E107 2 2 MOWING (SLOPE)	20.000 AC	135.00000	2,700.00	500.00000	10,000.00		
0570 E107 2 3 MOWING (INTERMEDIATE MACHINE)	800.000 AC	135.00000	108,000.00	350.00000	280,000.00		
0575 E107 2 4 MOWING (SMALL MACHINE)	5.000 AC	135.00000	675.00	500.00000	2,500.00		



Page 18 of 21

Letting:	03220519	May 19, 2022	Cal	Order: 006		Contract:	E3V94-R0	
Line No / Item Desc		Quantity Units	(1) PINEY GRO AND LAN		(2) MIDW CONSTRUC			
() indicates	s item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	(SLOPE MOWI	NG (AC					
	7 2 5 TROL, MANUAL	20.000 AC	100.00000	2,000.00	3,500.00000	70,000.00		
	0 6 1 , SLOW RELEASE FOR	1,000.000 SY	3.00000	3,000.00	10.00000	10,000.00		
	0 6 2 , SLOW RELEASE FOR	500.000 SY	3.00000	1,500.00	10.00000	5,000.00		
FERTILIZER,	0 6 3 , SLOW RELEASE FOR RNAMENTAL GRASS, AI DVER	500.000 SY ND	3.00000	1,500.00	10.00000	5,000.00		
	0 9 1 GRASS & PLANTS	10.000 MG	100.00000	1,000.00	100.00000	1,000.00		
0605 E57 SODDING	5 1	50.000 SY	4.00000	200.00	8.00000	400.00		
0610 E57 SODDING, C	5 1 2 ENTIPEDE	50.000 SY	4.00000	200.00	20.00000	1,000.00		
	5 1 4 T AUGUSTINE	50.000 SY	4.00000	200.00	20.00000	1,000.00		



Page 19 of 21

Letting:	03220519	May 19, 2022	Cal	l Order: 006		Contract:	E3V94-R0	
Line No / Item Item Descripti		e Quantity Units	(1) PINEY GRO AND LAI		(2) MIDW CONSTRUC			
() indicates item	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIC	N: 0001	(SLOPE MOWI	NG (AC					
0620 E575 1 SODDING, BERM		50.000 SY	4.00000	200.00	20.00000	1,000.00		
0625 E580 3 LANDSCAPE MAI REMOVAL, MANU	NTENANCE (WEE	35,000.000 D SF	0.75000	26,250.00	0.36000	12,600.00		
0630 E580326 MULCH- PINE ST		40,000.000 SY	4.25000	170,000.00	6.50000	260,000.00		
0635 E580326 MULCH WOOD C		100.000 SY	4.25000	425.00	5.00000	500.00		
0640 E580336 PRUNING AND TI	14 RIMMING (PALMS	150.000) EA	85.00000	12,750.00	50.00000	7,500.00		
0645 E580337 HERBICIDE, LAN APPLICATION- A	DSCAPED MULCH	15,000.000 I BED SF	0.20000	3,000.00	1.00000	15,000.00		
	18 DSCAPED MULCH REAS 1001-2000 S		0.20000	7,000.00	0.75000	26,250.00		
0655 E580337 HERBICIDE, LAN APPLICATION- AI GREATER SF	DSCAPED MULCH	11.000 BED AC	8,712.00000	95,832.00	350.00000	3,850.00		



Page 20 of 21

Letting:	03220519	May 19, 2022	Ca	all Order: 006		Contract:	E3V94-R0	
Line No / Iter Item Descrip		ate Quantity Units	· · /	OVE NURSERY	• •	VESTERN CTION, INC		
() indicates iter	m is bid as Lump Su		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0001	(SLOPE MOWI	NG (AC					
0001 SLOF	PE MOWING (AC)	Section Totals:		\$596,239.50		\$1,092,245.00		

Contract Grand Totals: \$596,239.50 \$1,092,245.00



Page 21 of 21

Letting:	03220519	May 19, 2022	Call Order: 006	Contract:	E3V94-R0
			e to file a protest within the time pres orida Statutes, or failure to post the b		

required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.